
;+s]t g+= of]hgf tyf sfo{s|dx? of]hgf :yn ljlgof]lht ah]6 ?= >dbfg nfeflGjt hg;+Vof s}lkmot

10 cfly{s ljsf; 433905
1010 s[lif 433905

afp;]vf]nf, bf/kfvf, u'xf/f, cf}n hf]lugbf/f, sf]l7ufpF / l;nfh df}l/kfng If]q 
ljsf; / ;fdfu|L vl/b

lq g g kf $ 86400 s|dfut

slkm / s]/f v]tL 328320 s|dfut

pGgt t/sf/L jLp vl/b lq g g kf $ 19185
20 ;fdflhs ljsf; 2439081
2010 lzIff 1384120

gd'gf ljBfno lgdf{0f lq=g=g=kf= $ 86400 s|dfut

1fgf]bo k|f=lj= afp;]vf]nf lkmN8 lgdf{0f lq=g=g=kf= $ 441600
hghfu/0f k|f=lj= vf=kf= dd{t lq=g=g=kf= $ 69120
/fdetm k|f=lj lkmN8 lgdf{0f lq=g=g=kf= $ 129600
lxdfno k|f=lj=lkmN8 lgdf{0f lq=g=g=kf= $ 129600
efg'eQm k|f=lj= ejg dd{t lq=g=g=kf= $ 95800
hgtf k|f=lj= tf/hfnL vl/b lq=g=g=kf= $ 432000

2020 :jf:Yo 172800
pk:jf:Yo rf}sL nxF cf}ifwL vl/b lq=g=g=kf= $ 172800

2030 vfg]kfgL tyf ;/;kmfO{ lq=g=g=kf= $ 608161
d'nkfgL d'xfg eO{ Kof/wf/f km'nrfjnL, 7f/b'nf /  vf=kf=lgdf{0f lq=g=g=kf= $ 259200
bf/kfvf lsdrf}/ 8fkmLrf}/ sfnflrp/f lrp/fd'/f kfgnx/f vf=kf= lgdf{0f lq=g=g=kf= $ 259200 s|dfut

bf/kfvf vf kf dd{t 61561
;/;kmfO{ sfo{s|d lq=g=g=kf= $ 28200

2040 ;+:s[lt k|j{4g 237120
k~r]jfhf vl/b lq=g=g=kf= $ 81600
3\jf/f d]nf Joj:yfkg lq=g=g=kf= $ 69120
eof/ yfg lgdf{0f lq=g=g=kf= $ 86400

2060 ;dfj]zLs/0f 36880
Ifdtf cled'vLs/0f cfdf ;d'x lq=g=g=kf=$ 36880

30 k'jf{wf/ ljsf; 6275441
3010 :yfgLo ;8s k'n emf]=k'= 3671680

 gnuf8 gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
bNnL hfh/sf]6 .

gnuf8 gu/kflnsf j8f g+= $ cGt{ut cfly{s jif{ @)&$.&% df sfof{Gjog x'g] of]hgfx?



afp;]vf]nf kx'rdfu{ tftfkfgL b]lv j8f sfof{no ejg ;Dd ;8s lgdf{0f lq=g=g=kf= $ 1795680
hgsNof0f lg=df=lj= ;]/fv]t b]lv u'xf/f x'b} sfKn];Dd ;8s lgdf{0f lq=g=g=kf= $ 998400 s|dfut

j8f g+ % sf] l;dfgf b]lv afp;]vf]nf vf/kfvf x'b} j8f g+ ^ sf] l;dfgf ;Dd 
3f]/]6f] af6f] lgdf{0f

lq=g=g=kf= $ 432000 s|dfut

cf]/Vofn b]lv vfnrf}/ x'b} km'nrfpnL;Dd 3f]=jf=lgdf{0f lq=g=g=kf= $ 445600
3020 l;+rfO{ 345600

dfgrf}/ sf]7Lufp kf]v/L l;rfO{ lgdf{0f lq=g=g=kf= $ 259200 s|dfut

cf}n vfg]kfgL kfO{k vl/b lq=g=g=kf= $ 86400
3030 ejg lgdf{0f 691200

gd'gf a:tL ljsf; lgdf{0f tyf ;x/Ls/0f lq=g=g=kf= $ 475200 s|dfut

j8f sfof{nosf]  ejg dd{t lq=g=g=kf= $ 216000
3040 phf{÷hnljB't 1566961

afudf/]vf]nf n=h=lj= sf] s'nf] dd{t / pks/0f vl/b lq=g=g=kf= $ 1566961 s|dfut

40 jftfj/0f tyf ljkt Joj:yfkg 216000
4060 j[Iff/f]kg 216000

jg ;+/If0f tyf Joj:yfkg lq=g=g=kf= $ 43200
t6jGwg u'xf/fvf]nf u'/;]vf]nf uf/]vf]nf tLd/]vf]nf uf]7vf]nf h]u]vf]nf / 
em|'d|]vf]nf t6jGwg

lq=g=g=kf= $ 172800 s|dfut

50 ;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g 284430
5050 :yfgLo tYof+s ;+sng / clen]v Joj:yfkg 114480

Ifdtf ljsf;sf nflu sDKo]6/ tflnd / cf/0f ;'wf/ lq=g=g=kf= $ 43200
sfof{no Joj:yfkg lq=g=g=kf= $ 71280

5080 cGoq juL{s/0f gePsf] 169950
;dk'/s sf]if lq=g=g=kf= $ 56160
ljljw 113790
hDdf /sd ?= 9648857


